IS gdtenm wezh
\l Nahonal Testmg Agency

Test Date : 10 sep 2022 Test Slot : siot 2

|Subject : PGQP60-Pali

SI. No.1
QBID:1555051

Identify the correct preposition for making a meaningful sentence.

The detectives found that the vietim was stabbed the neck.
(1) on

(2) to

(3) in

(4) at

EEEEEILE: BRI RCE
(1) ol

) goid

(3) el

(4) HERT

1[Option ID=31301]

2[Option ID=31302]

3[Option ID=31303]
4[Option ID=31304]

Sl. No.2
QBID:1555052

Identify meaning of the underlined idiom from the options given.

The students were beaten _black & blue by the people of the nearby region because of the protest.
(1) to shout loudly

(2) to beat mereilessly

(3) to curse rudely

(4) to abuse repeatedly

o ST &1 SR Bd 99 Bhgl 9 Marar aTell arg WRa! 9 9801 & 91y Fdd 3 1 ded § 2
(1) I EoH

() Uy e

(3) 39T oo

(4) I oA

1[Option ID=31345]
2[Option ID=31346]
3[Option ID=31347]
4[Option ID=31348]

Sl. No.3
QBID:1555053

Choose the correct option to make a meaningful sentence.

My mother wears sarees but last time when I her, she salwar suit.
(1) saw, was wearing

(2) saw. worn

(3) seeing. is wearing

(4) see, wear




JUIATE & 3ER Wil T IS A @ -

AT
B.FoR
C. 9 d
D. T
E. TUR

S fGu U foee § O 51 SR &1 9094 S
(1) B.A.D.C

2 D.E.B.C

3) EED.A.B

(4) C.A.E.D

1[Option ID=31373]

2[Option ID=31374]

3[Option ID=31375]
4[Option ID=31376]

Sl. No.4
QBID:1555054

Identify the correctly spelt word from the options given below:
(1) Benedicton

(2) Bereavment

(3) Belicose

(4) Blasphemous

il 1% 1Y Gl 11 D1 BT iforg

T T I
(R1=9) (FHTH)
GINEE) RS
Ard-Od [ [SfeEiIE
CEEE 11 [Sgdiie TA"
afdfed [V. [ag 999

1 14U 7T fosedl § 9 961 TR &1 98- HiuIe:
(1) A-IL. B-IV. C-ITI. D-I
(2) A-L B-II. C-IV. D-III
(3) A-IV. B-I. C-III. D-II
(4) A-IL B-IV. C-1. D-IT

=lEeli e

1[Option ID=31377]
2[Option ID=31378]
3[Option ID=31379]
4[Option ID=31380]

Sl. No.5
QBID:1555055

Identify antonym for the underlined word in the sentence.

The child was set free after his parents paid the ransom.
(1) abducted

(2) ransacked

(3) freedom

(4) seized




= 1% 1Y FE 11 DT e Hiforg

T A
(=) c)
NG [ [d&Hd Tk
B |=d 1. [facxi 2eg
C. [[dare M1 [dcdH Toi
D. [Of V. [G2of et

i U U [aeedl § O gl 3R &1 904 Sl
(1) A-IIL B-L C-IV, D-II

(2) A-L B-IV. C-II, D-IIT

(3) A-IL B-IIL, C-I, D-IV

(4) A-IV. B-I. C-III, D-II

1[Option ID=31381]

2[Option ID=31382]

3[Option ID=31383]
4[Option ID=31384]

Sl. No.6
QBID:1555056

Tdentify the correct passive voice for the sentence given below :

The thief stole several possessions from the house. Even the fridge has been emptied.

(1) Several possessions were stolen from the house by the thief. Even the fridge he has emptied.
(2) Several possessions were stolen from the house by the thief. Even the fridge was emptied.
(3) Including the fridge. several possessions from the house have been emptied by the thief.

(4) The thief being stolen several possessions from the house, also fridge has been emptied.

19 ¥ ¥ s Wee 9 DI T8 DIT |

A. QY. faug, Y9, BT

B. WY&, g, gfd. i

c. U1, vEy, dfoar, af e

D. Y, ST, HaldHl, gi

E. 316, garsdl, IoHid, 3%

il fdu U fasedi § 3§ 98! SR &1 994 Pifulu:
1) C.E.D.A
(2) B.ALE.C
3) A.C.B.E
@4) C.B.E.A

1[Option ID=31385]
2[Option ID=31386]
3[Option ID=31387]
4[Option ID=31388]

Sl. No.7
QBID:1555057

Identify the correct indirect speech for the sentence given below:
Rajesh said, "Dr. Babasaheb Ambedkar was born in Mhow. Madhya Pradesh".

(1) Rajesh told that Dr. Babasaheb Ambedkar had born in Mhow. Madhya Pradesh.

(2) Rajesh asked that Dr. Babasaheb Ambedkar born in Mhow, Madhya Pradesh.

(3) Rajesh suggested that Dr. Babasaheb Ambedkar is born in Mhow, Madhya Pradesh.
(4) Rajesh said that Dr. Babasaheb Ambedkar was born in Mhow. Madhya Pradesh.




% 7 & we! yataars <sg 99g &1 997 HIfor |

A 5T - GfeTd, gL, AR, ofdol
B. dldld - 9, 94, dlef, dsHl
C. STd - 84, 3R, S, fafuT

D. 360l - 74, TR, yufd, yu
E. aN1 - gIF, S, 91k, a1
e feu T fomenl & 9 96t SR @1 997 S
(1) HITA, C.B.D
(2) HIAC.A.D.E
(3) BAWE, A, D.C
(4) $ATD, C.B.E

1[Option ID=31389]
2[Option ID=31390]
3[Option ID=31391]
4[Option ID=31392]

Sl. No.8
QBID:1555058

Choose the correct order of the paragraph to create a meaning out of PQRS set :
Saussure stressed

P: in a language's structure and maintained

Q : the interaction at any one time of elements

R : in a network of relations

S : that these were interrelated
(1) RSQP
(2) PSRQ
(3) QPSR
(4) SRPQ

fafeiad O g o &
A ﬁg&gm@ﬁt
B.HJRR Wi RHF |
c. H ufaay Reen smarg |
D. GH®! 3191 1d 93ig o1 ¢ |
E. qH A g iR IR U TS & |
9 feu Tt fam el § ¥ 9ad 9ugad STk &1 99 BT
(1) HAAA.B.C
(2) $adB.C.D
(3) HAAB.C.E

(4) FAAA.C.D

1[Option ID=31393]
2[Option ID=31394]
3[Option ID=31395]
4[Option ID=31396]

Sl. No.9
QBID:1555059

Choose the correct sentence.
(1) I hope you will excuse me leaving early.

(2) I hope you will excuse my leaving early.
(3) I hope you will excuse mine leaving early.

(4) I hope you will excuse leaving early.




el 13 |1y Gl 11 BT e Difoy

A1 TR
A [RR 0T S d1eH] W SECEIRED
B. |31 IR 11 [fepeli o ZRIR UR <ol
C. [3TE1 O AT TI1. [gre 5 3T
D.[3= TRI R G@ST8MT [V, [ARA & 7T oOR LT
+d f3u U [ds e ¥ 9 9gl 3R &1 994 BIfI:

(1) A-IL B-IV, C-II, D-1
(2) A-IV. B-III C-II, D-1
(3) A-IL B-III. C-IV, D-1
(4) A-l. B-II. C-IIL. D-IV
1[Option ID=31397]
2[Option ID=31398]

3[Option ID=31399]
4[Option ID=31400]

Sl. No.10
QBID:15550510

Find out which part of the sentence has an error.

(1) With the demand for more working hours.

(2) people are awake till late at night and

(3) indulge in more junk food than home-cooked food.

(4) No Error

= 1% 1Y FE 11 DT e Hiforg

T 1 HI 11
A [S @1 nad 5581 GRS
B. [[ST5H W @ 3981 8l 1 [gay
C. [§ =g PIgTE § M gl il EEI
D. [Sra®T e | (181 N EEIELD
1 fu e fomedl & § W8l IR o1 99 Bif:

(1) A-IL B-IV, C-I. D-II
(2) A-I B-II, C-IIL, D-IV
(3) A-IL B-III. C-IV, D-1
(4) A-IV. B-III C-II, D-1
1[Option ID=31305]
2[Option ID=31306]

3[Option ID=31307]
4[Option ID=31308]

Sl. No.11
QBID:15550511

Who among the following was an Indian American biochemist who shared the 1968 Nobel Prize for Physiology or Medicine with
Marshall W. Nirenberg and Robert W. Holley for research that showed the order of nucleotides in nucleic acids. which carry the genetic
code of the cell and control the cell's synthesis of proteins ?

(1) Visvesvaraya

(2) Meghnad Saha

(3) 5.N. Bose

(4) Har Gobind Khurana

FAREd & 9 SH-91 U YR SERe! oz faqrH! & o e & &3 § 14U &1 arel 1968 & ied [RPR
Soeg vt SR ¢ Sacy Bidt & 1Y ATl febat foriept fawa & Ug aiid © fob gfaiare st H Gfokmdierss ol o, ol i
DITAPI P AP DHE DI a5 DIAI & IR WICH DI DITRDT P HIAYUI DI (40 BT 8 2

) gy
(2) Hy—Te el
(3) TH. 0. 99
(a)




1[Option ID=31309]
2[Option ID=31310]

3[Option ID=31311]
4[Option ID=31312]

Sl. No.12
QBID:15550512

India's first National Sport University is located in which of the following State/Union Territory of India ?

(1) Delhi
(2) Goa
(3) Manipur
(4) Haryana

YR & PR § 8 S H-3 7059 Wied 87 F 1Rd &1 W I8 S faufderay sefa g 2
() fEedt

(2) Tiar

(3) TR

(4) gl

1[Option ID=31313]
2[Option ID=31314]
3[Option ID=31315]
4[Option ID=31316]

Sl. No.13
QBID:15550513

Security Printing and Minting Corporation of India Limited (SPMCIL) has set up two new bank note printing lines which are located in
(1) Nepanagar and Salboni

(2) Dewas and Nepanagar

(3) Salboni and Hoshangabad

(4) Nashik and Dewas

YReig ufaufa gEur ud do A faftres @adiomdiengua) = & 7t 89 Fie fifdr ag=g wifta 31 8 af i W safua g 2
(1) AYFTR 3R Aedl

(2) N AR AR

(3) TesHl 3R SRER

(4) IS SR Ga

1[Option ID=31317]
2[Option ID=31318]
3[Option ID=31319]
4[Option ID=31320]

Sl. No.14
QBID:15550514

Which country is the largest sharcholder of ATIB (Asian Infrastructure Investment Bank) 7
(1) Germany

(2) France

(3) China

(4) India

H I P91 3 U 3T el (URATS AaE=H 39 §&) T Jad g91 SWYRT § 2
) S

(2) Y

() =i

(4) HIRc

1[Option ID=31321]

2[Option ID=31322]

3[Option ID=31323]
4[Option ID=31324]

Sl. No.15
QBID:15550515




Which of the following is TRUE about the Preamble to the Constitution of India ?

(1) 42% Amendment to the Constitution added words Secular and Socialist to the preamble.

(2) B.R. Ambedkar wrote the Preamble of Constitution of India.
(3) The Preamble was added to the Constitution after the enactment of Constitution itself.
(4) The Preamble has been amended twice since the enactment of the Constitution.

YR Ay & Raa-1 & ar § Fafafea d S Fugi s »

(1) 42 § GfayM Iy g1 S § Uy FRUe R IHeae] 9ss &S 71U |
(2) dl. 3R, HASHR 4 URd D AGUH I Ie <l [ed] |

(3) TGy o IRl AU & fUf-am & uyrd |ret T |

4) TefRrep1 § Iiaur & AR 8 P 918 9 3 IR FEieE e |

1[Option ID=31325]
2[Option ID=31326]
3[Option ID=31327]
4[Option ID=31328]

Sl. No.16
QBID:15550516

In a row of girls. Roopa is 7% from the left while Sunita is 12 from the right. On interchanging their respective positions, Roopa
becomes 22™ from the left. How many total number of girls are there in the row ?

(1) 35

(2) 33

(3) 38

(4) 37

Tsiodl 1 Ue dfda § E1 a9 9 7d Gl e 9 12d RIFA W g | 3F1 & 198 § 3101 o718 960 WU a3 220 /A |
TS § | 39 Ui A asfaal @ o e i g

(1) 35
(2) 33
(3) 38
(4) 37

1[Option ID=31329]
2[Option ID=31330]
3[Option ID=31331]
4[Option ID=31332]

Sl. No.17
QBID:15550517

In a row of people Anamika 1s 9™ from the left and Urvashi is 13™ from the right. When they change their positions and then Anamika
becomes 18! from the left. What is the new position of Urvashi from the right end of the row ?

(1) 23

(2) 22

(3) 24

(4) 25

T 1 U Uit | ST a1 ¥ od AR I S T 138 WA R T | o9 3 99 & -H g Al & af e oy ¥ 188 @
R Ao e | IR S I R A T A S e 2

(1) 23
(2) 22
(3) 24
(4) 25
1[Option ID=31333]
2[Option ID=31334]

3[Option ID=31335]
4[Option ID=31336]

Sl. No.18
QBID:15550518

In a row of boys. if Akash is 10" from left and Bimal is 9% from the right. When they interchange their positions. then Akash becomes
15% from the left. How many boys are there in the row ?

(1) 22

(2) 25




(3) 23
(4) 26

TSH! Bl UH UfGd &, MBI T4 T 103 3R [SAT AR Jod WM R T | 5T d 3109 § 30+ o118 960 dd ¢ dl ST a1d F 159
QAR S e | O e § b ass § 2

(1) 22

(2) 25

(3) 23

(4) 26

1[Option ID=31337]
2[Option ID=31338]
3[Option ID=31339]
4[Option ID=31340]

Sl. No.19
QBID:15550519

LK.H. R.F. L N & Q are sitting around a circular table facing the center. H is third to the left of L. who is the immediate right of K. R 1
third to the left of N but not neighbour of H or L. J 1s second to the right of Q. Who is second to the left of N ?

1 Q

(2) Forl

37

4 K

LK.HR.F.L N 3R QU R ¢dd & IRl 3R =5 DI R UG b 48 5 | L b alg AR AN WFRH § | K & 3 aller
%% ING AR IRAM YA RRGAPAIGGHIAIL FTUSRI ol 6 | Q P alle RGN VMW I G | N & Gl gk UH R DI

1 Q

(2) FUIN

3) 7

4 K

1[Option ID=31341]
2[Option ID=31342]

3[Option ID=31343]
4[Option ID=31344]

Sl. No.20
QBID:15550520

A B.C.D.E.F. G and H are players sitting around a round table facing the centre. D is the neighbour of A but not of H. B 1s the
neighbour of F and 4™t the left of D. E is the neighbour of H and 31 to the right of F. C is neither the neighbour of A nor of G.

Which of the following is correct.
(A) B 1s to the immediate left of H.
(B) H 1s to the immediate left of E.
(C) D 1s 4th to the right of F.

(D) H is immediate right of E.
(1) only A and B

(2) only Aand C

(3) onlyBand C

(4) onlyA.BandC

U% 7d ¢§d & °R] 3R A. B, C. D, E. F. G ${R H RG0S &% &1 IR S PP 96 € | D, A DT U5l § AfhI HPIET | B.F Bl
TS g R DS T T WA RE IEHBI TS g IR F S g IR WA RE I CTTNATI IS g ARTAG 1|

AHS RATUBT |
BE®P RAGUHE |
CFHIHIIRFERDE |
D.EF RMAHT |

14 feu Tt fde el § ¥ 9a8 Sugad STk &1 99 BT
(1) Had A R B




) FHagadRc
(3) HaaB AR C
(4) FAAA. B IR C

1[Option ID=31349]
2[Option ID=31350]
3[Option ID=31351]
4[Option ID=31352]

Sl. No.21
QBID:15550521

In a plane, there are 16 non-collinear points. Then the number of straight lines formed is
(1) 24

(2) 30

(3) a0

(4) 120

feret FHTd TR 16 TR-IXE fdg & aa didl s &t e fea- grft 2
(1) 24

(2) 30

(3) 60

(4) 120

1[Option ID=31353]

2[Option ID=31354]

3[Option ID=31355]
4[Option ID=31356]

Sl. No.22
QBID:15550522

A student has to score 30% marks throughout. If he gets 30 marks and fails by 30 marks. then the maximum marks set for the examination
is

(1) 100

(2) 150

(3) 200

(4) 400

feadt faemedf &1 3diivl 819 8 UIdids &1 30% 3id Witd &A1 8| afe 98 30 3% UIdl § o1 98 30 3@ 9 9B 8 oidl &, a9 RI&T &
10 aiftiean fba i RuiRa fea T & |

(1) 100

(2) 150

(3) 200

(4) 400

1[Option ID=31357]

2[Option ID=31358]

3[Option ID=31359]
4[Option ID=31360]

Sl. No.23
QBID:15550523

A man bought 20 cows in ¥ 200000. If the average cost of 12 cows is ¥ 12500. then the average cost of remaining cows will be ?
(1) F 6250
(2) ¥ 6520
(3) 7 6025
(4) 7 6052

P15 ofa 20 TR BT 200000 FUY & WiEd € | IS 12 7T 1 SId Tgd 12500 TIY 1. A A9 7T &7 SH19d Ged &1 g 2
(1) 6250 3T
(2) 6520%4U
(3) 6025 IUY
(4) 6052 FY

1[Option ID=31361]
2[Option ID=31362]
3[Option ID=31363]
4[Option ID=31364]




Sl. No.24
QBID:15550524

A sum at simple interest of 13% 9 per annum amounts to ¥ 3080 in 4 yr. then the sum is

(1) 3000
(2) # 2000
(3) ¥ 1000
(4) 7 2500

PIg YR 13

(1) 3000 T
(2) 2000 ¥YT
(3) 1000 9T
(4) 2500 3T

1[Option ID=31365]
2[Option ID=31366]
3[Option ID=31367]
4[Option ID=31368]

% HIYROT ST &1 &3 F 4 I8 § 3080 BUT &1 9T & | I8 Y=RIT &

1
2

Sl. No.25
QBID:15550525

The system of equation 2y + 4y + 16 =0 and 3x + 6y + 24 =01s
(1) Unique solution
(2) Infinitely many solutions

(3) Inconsistent
(4) Only two solutions

TR0 P IS 2r +4y + 16 =Td 3x + 6y +24=07¢ |

(1) falwga

(2) 33U H 3D g
(3) 3R

(4) FHad algd

1[Option ID=31369]
2[Option ID=31370]

3[Option ID=31371]
4[Option ID=31372]

Sl. No.26
QBID:421635311

=74 9 O 9 auiETen & Tel 62
1 @

(2) &

3 J

(4) 3j

1[Option ID=39801]

2[Option ID=39802]

3[Option ID=39803]
4[Option ID=39804]

Sl. No.27
QBID:421635312

fraferRad oy= @1 forg w1 g Sl §e- offd -
) g

(2) XgcdHIdl

(3) 3

4) ggiad

1[Option ID=39845]
2[Option ID=39846]
3[Option ID=39847]
4[Option ID=39848]

Sl. No.28




QBID:421635313

T fied & Tod IR Bt 3 9de 9 Td A g 3 X o 8, oiet i 2 e -
1) 9%

(2) 345

1[Option ID=39889]
2[Option ID=39890]
3[Option ID=39891]
4[Option ID=39892]

Sl. No.29
QBID:421635314

< DI HId1 T11 1 &4 gl g3 UT:
(1) ¢acs

(2) HiUday
(3) foufera—
(4) §IRE

1[Option ID=39933]
2[Option ID=39934]
3[Option ID=39935]
4[Option ID=39936]

Sl. No.30
QBID:421635315

gifer quieTar o1 a9 3o 31aR ®

(1) 3f
(2) 9
3) 9
4 B
1[Option ID=39977]
2[Option ID=39978]

3[Option ID=39979]
4[Option ID=39980]

Sl. No.31
QBID:421635316

fer quiHTen | S1eRi BT Pl B B
(1) 26

(2) 41

(3) 46

(4) 52

1[Option ID=40021]

2[Option ID=40022]

3[Option ID=40023]
4[Option ID=40024]

Sl. No.32
QBID:421635317

% 9% 31 Hl-ggaad &0 g :
(1) gal
(2) g&l
3) g%
@) g%

1[Option ID=40065]
2[Option ID=40066]
3[Option ID=40067]
4[Option ID=40068]

Sl. No.33
QBID:421635318

qTfer el T T eff:




(1) HRd

) dicier

(3) YEas

(4) ™R
1[Option ID=40093]
2[Option ID=40094]

3[Option ID=40095]
4[Option ID=40096]

Sl. No.34
QBID:421635319

TH T 19T fores Tul g§ode Suas g
) srelapTe

(2) I&Hd

(3) HIPd

4 Tife

1[Option ID=40097]
2[Option ID=40098]
3[Option ID=40099]
4[Option ID=40100]

Sl. No.35
QBID:4216353110

1T T g1 9 &
() 3yefapreft

(2) IPd

(3 HIPd

4 gpredi

1[Option ID=39805]
2[Option ID=39806]
3[Option ID=39807]
4[Option ID=39808]

Sl. No.36
QBID:4216353111

T SlG-Tgiid & e o
1) A=

(2) 3urfa

(3) WU

(4) HglR Y

1[Option ID=39809]
2[Option ID=39810]
3[Option ID=39811]
4[Option ID=39812]

Sl. No.37
QBID:4216353112

T AlG-Tgifa 3 g @1 R1ensi & 998 & for =9 § o1 S o
(1) T HEHNA

(2) dcddd

() fafues

(4) yr-fg4g

1[Option ID=39813]
2[Option ID=39814]
3[Option ID=39815]
4[Option ID=39816]

Sl. No.38
QBID:4216353113

aTfer fafies fawifoa &
) gi= YT




(2) %q_mﬁf[
3) gy
(4) 13 UrR o

1[Option ID=39817]
2[Option ID=39818]
3[Option ID=39819]
4[Option ID=39820]

Sl. No.39
QBID:4216353114

gRarRurfer g iewar &

(1) Feued
2) fggiUcs
(3) fYyeUcs
(4) gihuule

1[Option ID=39821]
2[Option ID=39822]
3[Option ID=39823]
4[Option ID=39824]

Sl. No.40
QBID:4216353115

d gifa d oF aifd & 59 RS & Sfd Sdl 6
(1) FU RS

(2) HHBRS

(3) RO BRI

(4) TOgH PRD

1[Option ID=39825]
2[Option ID=39826]
3[Option ID=39827]
4[Option ID=39828]

Sl. No.41
QBID:4216353116

a1 gaf wifer & f5g Re 3 Safid &
(1) B HRD

(2) P BRD

(3) PHI0I PRI

(4) TS PRSP

1[Option ID=39829]
2[Option ID=39830]
3[Option ID=39831]
4[Option ID=39832]

Sl. No.42
QBID:4216353117

TemifFeargy ddfid B
(1 e

() gicgaHey

(3) Tgdi-ey

(4) HSRADT

1[Option ID=39833]
2[Option ID=39834]
3[Option ID=39835]
4[Option ID=39836]

Sl. No.43
QBID:4216353118

YD UaT-Y Dl SUSY o ®H oR faar mar ot
(1) =<1
) g4I
(3) IER




(4) HRAY

1[Option ID=39837]
2[Option ID=39838]
3[Option ID=39839]
4[Option ID=39840]

Sl. No.44
QBID:4216353119

SIa® HEF &:
(1) Ed DI
) G5Bl

) fhag el
(4) firaguli &1

1[Option ID=39841]
2[Option ID=39842]
3[Option ID=39843]
4[Option ID=39844]

Sl. No.45
QBID:4216353120

Udaey 3R farmaey farge e &
(1) FR-Fem

(2 Ofsgm-Har

(3) Geo-Fem

(4) gia-Har

1[Option ID=39849]
2[Option ID=39850]
3[Option ID=39851]
4[Option ID=39852]

Sl. No.46
QBID:4216353121

(1) HG
) Hea
(3) Hig
(4) Had

1[Option ID=39853]
2[Option ID=39854]
3[Option ID=39855]
4[Option ID=39856]

Sl. No.47
QBID:4216353122

GG 1S G UT:
(1) DiYciay]H
(2) PRIRH:
(3) gaHigTd
(4) Zggg

1[Option ID=39857]
2[Option ID=39858]
3[Option ID=39859]
4[Option ID=39860]

Sl. No.48
QBID:4216353123

g fPasud melsiur
(1) 203¢
2 3598
() 30aY




(4) 45399

1[Option ID=39861]
2[Option ID=39862]
3[Option ID=39863]
4[Option ID=39864]

Sl. No.49
QBID:4216353124

Rrgref a3 fog 99 o |ifY @) v foear am
(1) 2039
) 35a¢
) 30a4
(4) 4534

1[Option ID=39865]
2[Option ID=39866]
3[Option ID=39867]
4[Option ID=39868]

Sl. No.50
QBID:4216353125

g - Falur wgl urd faear 4
(1) greEmr

(2) ¢dge

(3) SHiUdas]

(4) PUTR

1[Option ID=39869]
2[Option ID=39870]
3[Option ID=39871]
4[Option ID=39872]

Sl. No.51
QBID:4216353126

& R SUCRIE T ga 8
(1) YFEIFHUGT I

(2) HeMaM gd

(3) TeMURFsET gd

(4) He ﬂl%iqg 1d

1[Option ID=39873]
2[Option ID=39874]
3[Option ID=39875]
4[Option ID=39876]

Sl. No.52
QBID:4216353127

RIS SSITARTE 5 &l URNG & e 3
(1) Ygdl
(2) g8
(3) dtEn
(4) e

1[Option ID=39877]
2[Option ID=39878]
3[Option ID=39879]
4[Option ID=39880]

Sl. No.53
QBID:4216353128

CECRE] ﬁﬂw-aﬁ %
(1) Side™
(2)

(3) JTuleda®l




4 apefd

1[Option ID=39881]
2[Option ID=39882]
3[Option ID=39883]
4[Option ID=39884]

Sl. No.54
QBID:4216353129

Rag g vd H ARy FEA S UeR €
(1) &

(2 g+

(3) IR

4 Uig

1[Option ID=39885]
2[Option ID=39886]
3[Option ID=39887]
4[Option ID=39888]

Sl. No.55
QBID:4216353130

[0 f9es 31 sigPpuT &
(1) FHURIGH]

(2) YIgpul

(3) UUFHEAl

(4) IRYIHIGA!

1[Option ID=39893]
2[Option ID=39894]
3[Option ID=39895]
4[Option ID=39896]

Sl. No.56
QBID:4216353131

Frofofead & ¥ o F w3y fasy =9 3 g o ofie i 9 afda &2
(1) YU

(2) ggad

(3) SdD-FaFHYr

(4) HgIad

1[Option ID=39897]
2[Option ID=39898]
3[Option ID=39899]
4[Option ID=39900]

Sl. No.57
QBID:4216353132

TETHA gRT TH YRU - & Ugd aifiaa Igd ¥
(1) drafdg

(2) 4Ry

3) grd

(4) FEAPd

1[Option ID=39901]
2[Option ID=39902]
3[Option ID=39903]
4[Option ID=39904]

Sl. No.58
QBID:4216353133

g% 5RI SUCRE sRgu= &1 ¥E 6

1)
(2)
(3)
(4)

hn

| S R




1[Option ID=39905]
2[Option ID=39906]
3[Option ID=39907]
4[Option ID=39908]

Sl. No.59
QBID:4216353134

Uy TARIE § for gy %1 ute fear S g
(1) grfaieRd

(2) YHUg

(3) GreUld

(4) g

1[Option ID=39909]
2[Option ID=39910]
3[Option ID=39911]
4[Option ID=39912]

Sl. No.60
QBID:4216353135

g9 I I SEIAER @1 3181 &
(1) P2
(2 Hfedr
(3) IUaE!
(4) 3=

1[Option ID=39913]
2[Option ID=39914]
3[Option ID=39915]
4[Option ID=39916]

Sl. No.61
QBID:4216353136

“Fed LT ST HITT ©:
() Hgfgaraam

() SRIfdERI

(3) TRAYYH

(@) facaaui

1[Option ID=39917]
2[Option ID=39918]
3[Option ID=39919]
4[Option ID=39920]

Sl. No.62
QBID:4216353137

TR BT B -
) FARHH

(2) TOR+SH

(3) TRIR+3{H

() TR=5H

1[Option ID=39921]
2[Option ID=39922]
3[Option ID=39923]
4[Option ID=39924]

Sl. No.63
QBID:4216353138

fiftes § 999 8
) &

(2) HEYRY
(3) Sgeie
() quIRy




1[Option ID=39925]
2[Option ID=39926]
3[Option ID=39927]
4[Option ID=39928]

Sl. No.64
QBID:4216353139

Ty S Stfiremfies o U Rl §:
(1) UeHuSH

(2) Uig®eUl

(3) PUEEY

(4) 0%

1[Option ID=39929]
2[Option ID=39930]
3[Option ID=39931]
4[Option ID=39932]

Sl. No.65
QBID:4216353140

BT 3R TS el 1 TUT 51 & DRI UY B 57 10 I S 916 &:
() dafem

(2) AfcgaH®™

3) Hgdi-en

(4) HSTRADE

1[Option ID=39937]
2[Option ID=39938]
3[Option ID=39939]
4[Option ID=39940]

Sl. No.66
QBID:4216353141

Rygrd &) ITe-g190T B3 aTelt AT BT AH B
(1) TiaH
(2) T

(3) gAYl

(4) HIAT

1[Option ID=39941]
2[Option ID=39942]
3[Option ID=39943]
4[Option ID=39944]

Sl. No.67
QBID:4216353142

< 3 58 9 9 ft ST e B

() i

(2) WEHId

(3) dYMId

(4) AW
1[Option ID=39945]
2[Option ID=39946]

3[Option ID=39947]
4[Option ID=39948]

Sl. No.68
QBID:4216353143

JrId o (G S Bt fRanel F e g
(1) Iq

(2) JUHT

(3) ool

(4) oY

1[Option ID=39949]
2[Option ID=39950]




3[Option ID=39951]
4[Option ID=39952]

Sl. No.69
QBID:4216353144

diG o BT HE AT 9REE B
(1) wfezarg

() qiffd-a

(3) THPGSAH

(4) HeM

1[Option ID=39953]
2[Option ID=39954]
3[Option ID=39955]
4[Option ID=39956]

Sl. No.70
QBID:4216353145

dig 3o fayrg 78t a=a:
1) 9

1[Option ID=39957]
2[Option ID=39958]
3[Option ID=39959]
4[Option ID=39960]

Sl. No.71
QBID:4216353146

TG P TR YT 1M [ 3¢ 10 = i SR 31 o
() 3F<

(2) ¢ded

3) J9<

(4) 3U<

1[Option ID=39961]
2[Option ID=39962]
3[Option ID=39963]
4[Option ID=39964]

Sl. No.72
QBID:4216353147

TG D1 O o1 Dol § g3 UT:
(1) =M

) wifern

(3) HTd

4 ferofa

1[Option ID=39965]
2[Option ID=39966]

3[Option ID=39967]
4[Option ID=39968]

Sl. No.73
QBID:4216353148

4 Sfeafed =il & S ve ufda dig =@ =81 6:
(1) &7
(2) TRAY
(3) TIeferga
(4) PUFR

1[Option ID=39969]
2[Option ID=39970]
3[Option ID=39971]
4[Option ID=39972]




Sl. No.74
QBID:4216353149

S0 4 BH g5 & GBI gl o:
(1) A

) faffgar

(3) GRS

(4) 3D

1[Option ID=39973]
2[Option ID=39974]
3[Option ID=39975]
4[Option ID=39976]

Sl. No.75
QBID:4216353150

a5 o & g Tmem 3 sfym- s &1 gga9= o B
(1) 2Rdg

(2) Jaigare

(3) HelIH

(4) a9gH

1[Option ID=39981]
2[Option ID=39982]
3[Option ID=39983]
4[Option ID=39984]

Sl. No.76
QBID:4216353151

1) gaifkiarg
(2) HEMIGD
(3) gy
(4) 4TS

1[Option ID=39985]
2[Option ID=39986]
3[Option ID=39987]
4[Option ID=39988]

Sl. No.77
QBID:4216353152

iR few &

(1) THegall & SR o1
() W Faai e

(3) Slg T Bl

4) Sl a=H B

1[Option ID=39989]
2[Option ID=39990]
3[Option ID=39991]
4[Option ID=39992]

Sl. No.78
QBID:4216353153

(1) 3l
(2) 49
(3) Mg
(4) 9%
1[Option ID=39993]
2[Option ID=39994]

3[Option ID=39995]
4[Option ID=39996]

Sl. No.79
QBID:4216353154




di% [AERaR SR dfgd &1 3wid ©:
(1) g fueed o

@ fgra e d

() 3ffiey foes |

(4) 3FfUcd o

1[Option ID=39997]
2[Option ID=39998]
3[Option ID=39999]
4[Option ID=40000]

Sl. No.80
QBID:4216353155

FURSUGUTT & OE® &

1[Option ID=40001]
2[Option ID=40002]
3[Option ID=40003]
4[Option ID=40004]

Sl. No.81
QBID:4216353156

Had WS UIid-HEHUPR 6:

1[Option ID=40005]
2[Option ID=40006]
3[Option ID=40007]
4[Option ID=40008]

Sl. No.82
QBID:4216353157

TARTD! DI T= 5:
(1) 50

(2) 52

3) 54

(4) 56

1[Option ID=40009]
2[Option ID=40010]

3[Option ID=40011]
4[Option ID=40012]

Sl. No.83
QBID:4216353158

wfogmr afeuer sg 9 O off I 91 B
1) g

) a7y

(3) Uoadl

(a) R ergfg! T

1[Option ID=40013]

2[Option ID=40014]

3[Option ID=40015]
4[Option ID=40016]

Sl. No.84
QBID:4216353159




Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: TETIGHYA 3 TaH §& & Jdad ©F g% &1 dUH g
Reason R: JaeHaNg® eIfH® &Yl (Fea-arafcddy i &%) & =0 & G5 - aaHe™ & TeMHeHYt & 39ag a7 4Tl

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R 1s the correct explanation of A

(2) Both A and R are correct but R 13 NOT the correct explanation of A

(3) Ais correct but R is not correct

(4) A isnot correct but R is correct

1[Option ID=40017]
2[Option ID=40018]
3[Option ID=40019]
4[Option ID=40020]

Sl. No.85
QBID:4216353160

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Tidl, FHIE Ud U=l § ! RI&T & ol =R &
ReasonR:@?&rﬁﬁTmﬁﬁﬁm$mmiﬂl

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 18 NOT the correct explanation of A

(3) Ais correct but R is not correct

(4) A isnot correct but R is correct

1[Option ID=40025]
2[Option ID=40026]
3[Option ID=40027]
4[Option ID=40028]

Sl. No.86
QBID:4216353161

Given below are two statements:
Statement I: PYUGY THTHE S SINEESIEE] &gl'{ﬁd*&llmwllﬂ § YAl HAfdas il J—EI”IIQ’I%I‘IMHM{"M aiud
Statement IT: HIRTITYTIRIRITY 56 TR0l Gl -1 S SIUM U, IR U4 [&=1104 Sfuaatdey 3|

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 1T is correct
1[Option ID=40029]

2[Option ID=40030]

3[Option ID=40031]
4[Option ID=40032]

Sl. No.87
QBID:4216353162

Statement I: §% = 39 Y 1 Sfaed1 H 75-T oy Tl
Statement IT: 39 U1 @1 “HeMIRAsaT &gl Tdi g

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement I is incorrect
(4) Statement I is incorrect but Statement II 1s correct
1[Option ID=40033]

2[Option ID=40034]

3[Option ID=40035]
4[Option ID=40036]

Sl. No.88
QBID:4216353163




Given below are two statements:
Statement T HTdwola=dd] HWRI], 5 dRU=d] [g=N], [ds=uTg=ad] ATH&Y, A=y Y=gdl Yo dd-, Yadd-T9=adl e,

BRG] del, da4TI=aa dUsl, qUgTv=ad] J9Tal. SUTaHu=adl Yal, Yaq=adl Siiid, Sfdy=adl SRIER |
Statement II: I8 Ufe=aqgmIe &1 Ufaad (afes™) Ha g

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I i1s incorrect but Statement II 1s correct
1[Option ID=40037]

2[Option ID=40038]

3[Option ID=40039]
4[Option ID=40040]

Sl. No.89
QBID:4216353164

Statement I: §& = (Y1 YYH IUSYT Uraiy fagaii &1 faar i
Statement IT: UGG fHeg i § Blusssl &l Fad Ygdl Heal W gafl|

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 1T is correct
1[Option ID=40041]

2[Option ID=40042]

3[Option ID=40043]
4[Option ID=40044]

Sl. No.90
QBID:4216353165

Statement I: 6 @l U, fHeEd, W ST |
Statement II: Tf dEH1 UG dugld HEGIARETHRIT. I rT, gfefsgw . Hﬁf AT

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II 1s correct
1[Option ID=40045]

2[Option ID=40046]

3[Option ID=40047]
4[Option ID=40048]

Sl. No.91
QBID:4216353166

Statement I: §& & Siia 1 3T ATAT BT qui4 FeIRHEHET § e 31
Statement IT: HETIRISHYT & IR g5 P HGIH-THRGHT SR H g311 U1l

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement I is incorrect
(4) Statement I 1s incorrect but Statement II 1s correct
1[Option ID=40049]

2[Option ID=40050]

3[Option ID=40051]
4[Option ID=40052]

Sl. No.92
QBID:4216353167

Statement I: §& &I Uell 1 A1H Wﬂﬁw Ut

Statement IT: HEDAHI/ARIER] & &¢ BT A1 A5 U1

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement 1T is correct




1[Option ID=40053]
2[Option ID=40054]
3[Option ID=40055]
4[Option ID=40056]

Sl. No.93
QBID:4216353168

Statement I: “35° @1 UIad- 91l § dF WHR I ﬁﬁﬂ %I

Statement II: 3, 5. 3|

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement I is incorrect

(4) Statement I is incorrect but Statement II 1s correct

1[Option ID=40057]

2[Option ID=40058]

3[Option ID=40059]
4[Option ID=40060]

Sl. No.94
QBID:4216353169
el 191 g4 11 9 OaH &3
LISTI LIST II

A |fEfgeoss I |fgEites
B. |ugH I |gHites
C |dgFeE o | 3ffietes
D. |HgE™ V. |erfucs

Choose the correct answer from the options given below:
(1 A- 1 .B-1II .C-1V .D- III

(2) A- III .B- IV .C-1I .D-1

3 A-II ,B-1 .C- IO ,D-1IV

4 A- IV .B-1II .C- I .D-1I

1[Option ID=40061]

2[Option ID=40062]

3[Option ID=40063]
4[Option ID=40064]

Sl. No.95
QBID:4216353170

il 1 1 Gl 11 9 o e

LISTI LIST IT
A (3= 1 |3
B. |QudE . |fadeEn
c. | Il |geifdeR
D. |afgligal /e V. [oxHRE

(1) A-lL. B-II. C-IIL. D-IV
(2) A-IL B-III, C-IV, D-1
(3) A-IIL B-IV, C-IT, D-1
(4) A-IV. B-I. C-III. D-II
1[Option ID=40069]
2[Option ID=40070]

3[Option ID=40071]
4[Option ID=40072]

Sl. No.96
QBID:4216353171




= 11 G 11 ¥ e &

LISTI LISTII
A |usfd L |\ug
B. |T=fd L |\Nag
C. |aefa oL [\H
D. |ggfd V. [\8q

Choose the correct answer from the options given below:
(1) A-IL B-III. C-I. D-IV

(2) A-IV.B-IL C-III. D-1

(3) A-L B-IIL C-II, D-IV

(4) A-IIL B-L. C-IV, D-II
1[Option ID=40073]
2[Option ID=40074]

3[Option ID=40075]
4[Option ID=40076]

Sl. No.97
QBID:4216353172
gt 1 1 gl 11 9 fare o
LISTI LISTO
A |geHl fguRd L g
B. |gfumrfaufy m|gsd
c. |dfcarfayfa oL |gsi
D. |ageitfaufa AV A

Choose the correct answer from the options given below:
(1) A-IV. B-I. C-III. D-II

(2) A-IIL B-III. C-IV. D-I

(3) A-IL B-L. C-IL. D-IV

(4) A-IL B-IIL C-IV. D-II
1[Option ID=40077]
2[Option ID=40078]

3[Option ID=40079]
4[Option ID=40080]

Sl. No.98
QBID:4216353173
1151 gl 11 9 e &
LIST1 LISTII
A |TTHTE 1 |qughe
B. |fiqud I |eHuRg
c. |dg@gard n |[gs
D. |afif V. |3fomdivrg

Choose the correct answer from the options given below:
(1) A-IV, B-I. C-III, D-II

(2) A-IIIL B-II. C-I, D-IV

(3) A-II, B-IV. C-III. D-I

(4) A-1.B-IL C-III, D-IV
1[Option ID=40081]
2[Option ID=40082]

3[Option ID=40083]
4[Option ID=40084]

Sl. No.99
QBID:4216353174




= 11 G 11 ¥ e &

LISTI LISTII
A |uBH HiOTE I |gea Ry

giag siaa= 1. |g@d §qad
C. |dfag sfma= II.

qag
D. |Ig fma= IV. q%wga@ RISEER

=

Choose the correct answer from the options given below:
(1) A-L B-IL C-IV, D-II

(2) A-IIIL B-II C-I, D-IV

(3) A-IV. B-I. C-III. D-II

(4) A-IL B-IV. C-I. D-III
1[Option ID=40085]
2[Option ID=40086]

3[Option ID=40087]
4[Option ID=40088]

Sl. No.100
QBID:4216353175

Yl 191 g4 11 9 HaH &3

LISTI LISTII

A ﬁm ] 1 |[wwErag

gfa sifvar sigfeal
B. | IL |GGl
. |afqa i srg g
C. : L. |SSEEmET

Choose the correct answer from the options given below:
(1) A-IV, B-I. C-IIL, D-II

(2) A-I B-IL C-III, D-IV

(3) A-IIL B-IV. C-I. D-II

(4) A-IL B-III, C-IV, D-I
1[Option ID=40089]
2[Option ID=40090]

3[Option ID=40091]
4[Option ID=40092]




